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A (saving nature) Jgl (0,5
Yy (wonders of creation) g5 (v,
vy (value of knowledge) pgw (yv)>
[A)] (traveling the word) o,lo=> (yw)>
-2k 4k

Y (understanding people) Jol (j0)>
AD (A Healty Lifestyle) 095 (y0)>
\o¥ (Art and Culture) pguw (0,5
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na (Sense of Appreciation) (Jol (yu,>
\Fo (Look it up) 093 (yw)>
\6fF (Renewable Energy) pguw ()3
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air conditioner ...auge5 255w

alternative....... j5ls @S
anger......... cilvac s
apologize for..............c.......
sp 0> Sualys e
apply forajob ...
o3 Y2 gLolas
asaresultof.. Aoudd >
atbirth......... BUSIHETS
atmosphere........... Jawadl =
balcony ........... oL gl
barbecue .............
BC (Before Christ)

Bamo © o e jl Gy
benefit....... Cjo «jlnl
blow ... 0303 (g
broth................. CgSoT wwgw

burn (burnt). 5359w )Ll jow

catch (a) cold ....... (3,950 o
character......cuwazd Sy

collector
come up with ...
0BL (S 8iS
community
component
conclude...... -
consistof.........
constantly..........
consume ............. :
cook (V,n).....cccc...... Bt
cool (v,adj)... ¢
cooperate........... -
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cost ... ool e figure ... JSb @By e
count ... o Solus  fitness..... el cunlis
counterpart........ Jles dien  flock............ OMT3S wgS o,
cross out

OISe)E j93 jlpSdis  fond. Loadle (Glidno
deal with ... forever ... Qo (¢l p

OIS pio yily By fossil fuel..... hwd csgw
delivery ... o= (i (jo5  future generation. gi=) Jus
demand........ Lolas (> SLolas  gadget........ Jpl @Baws
digest ... > o : garbage............... JeaT @b
disability.............. 5lg3b gasoline
distance... charity ...
document get familiar with .. b jLblsT
dread ............... get ready
economy ... (ngzad po Sbaidl  gift .
engine........ 9990 give off (31509 )35 pidio
environment .....Cuwjbi=o  gradually....... z0,15 @ d=,a5
equivalent 0 jcnanT oo
factory........... )5 hatch.......... 02T @i jl
fall asleep..... OMdRaz @) @S
falling water however ... Lz
fan ... hybrid car ... ;uS 5 (9,595
fantastic ... hydropower OT L (g5l 193
feather. ... 5 inform odlgubl




joint ... S e o Jrabs
kinetic.............. BB = (s
mechanical power................
SBe (gj 4l

landfill................. Abj 8> J=o
last ... OiS Job 5T
lead to/into........ @ (A yzio
leader ... ey
LED lightbulb..............
63l & ¥

1€SS .o 1S
light (v,n,adj)........cccccccooc
S 2Widg) 35 rb,
likelihood ... Jlisl
liquid fuel .............. &l &g
load........... SN, b
machine......... owile @8>
magic........... jaoT oz (293l
mMargin ... ainls
material ... omiz o
nonrenewable ... LB =S
nowadays ... 2jg pol

principal ... R0 (ol
proverb ... Jiallo o
racehorse........... Ao
radiation........... Rinis «jLass|
reach................ 0w
FEASON ... Ju>
reduce......... ol
remind......... O3569TL
remote-controlled car.......
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renewable .............. JERERVEES)
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replace............... S RKle
require ... ool
FEVIEW..........oovvvvvivinenes O3S 90
revolve ... 03 )9 ]Sy
roll ... OS85 «igle
Lty bl

O3S jlvlel,

running water......... ©lo T
heat (v,n).......... LS 3505
save .ol )3 S0 psd
separate.......... ljzo (> Sliz
shelf ... Qunidd
shiny panel.............. 8l p Azio
sight....... 05 (b
snack ........... paize (S

solar power ... caui 95 (gj 4
space station... s oG

special.......... vols
spoil ....... OISO (L swld
stable......... aligh ¢luk
StoNne ... S
store......... oibgyd )35 3
stove..... RS> @lel

string lightbulb ...
@laad) §p ol
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structure............. JES L o jlw
succeed................... OMD G590
suchas........ J28 jl
suitcase ... oldaz
sunshine............ a9 Gl
supply sb with sth..............
0SS Gjuz S ©lp
swimming pool....... Lo pxanl
take photograph......................
0l Gule

take sthin.... cjuz 3 Soiz
take the placeof ...
oS ) sz gz

tide ..o 9 =
truck. ..., 09205
turbine........ 0290
turn oSz
unit o8> amly
until S Hlj b
upset.... 33 pundl «cuml )b
USE UP......oooviiainnn, OIS B pao
valuable........... Lo j |
variety ... S5 (E£gi0



videophone......... GRYa5 (yal3

visible .............. 00> BB (S
warn ... - odb)lae
waste ... Blj juz 31>,
weigh ... Oaslde) jg
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1. It is thought that many of the diseases, which are
killing people these days, are caused by all the ......... in our
environment.

1) resources  2) situations  3) pollution  4) absence
2. The game completely ........ all my energy, so | was too
tired to do much afterwards.

1) absorbed  2) converted 3)collected 4) hatched
3. I couldn’t finish reading that interesting book, so | took it
to the library and ........ it for another two weeks.

1) recalled 2) renewed  3)reminded 4) reviewed
4. That proposal may be away to ... two birds with one
stone, but we also have to be careful not to get greedy and

......... everything.
1) kill / store  2) hunt / spoil 3) make / roll 4) kill / spoil
5. This ... device enables deaf people to telephone the

hospital by typing a message instead of speaking.
1) constant 2)voluntary  3) portable 4) equivalent

. By
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6. The owner of the company was satisfied with the ........
improvement in our sales figures over the last two years.

1) gradual 2) technical  3) changeable 4) invisible
7. Many people are really worried about the introduction
of the new tax rules by the government. They think it will
affect the ... economy.

1) origional  2) immediate 3) entire 4) actual
8. Some psychologists believe that it is not size or age that
......... children from adults - it is responsibility.

1) selects 2) separates  3) compiles  4) organizes
9. The educational committee of the college is meeting
next Monday to consider Mary’s ......... for giving her another
chance to complete the study.

1) expression 2) demand 3) element 4) identity
10. We were waiting for the things my father had sent from Rasht
but the heavy snow yesterday delayed the ...... of the parcel.

1) resources  2) success 3) serving 4) delivery
a b .z
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You can solve this math problem easily. (polro dloz)
ety aloz Jonie 0] Jsgome 4 pslas o sl ¢ jgimsd Gillae
Algi oo Lol il I YL Ales sive ) oS 420 by s
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This math problem 0 y5ko dex Jol &
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This math problem can be oS adlol xé les
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This math problem can be solved
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This math problem can be solved by you easily. (Jgxo dloz)
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| had gone to the park before they arrived.
(eSSl 5o e (ool i3l 5k
deb + had + J=8 pgw Cuound

Jelé 51 3 1y had (S8 Job il oo w0l ool 50,5 My sl
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Had they finished painting the house when you called?
Sao il s 39 50 65, Pl |, 66 055 T 4T
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| had not gone out when he came in.
s 319 91 59 [° 351 G5 ) gt (44
ke BB @]y (oS 5 GlagSl (nl s
L (ol before oslw (Lol
Before ool (ol a2 (olo
They had finished their homework before the film started.
s 3,0 @l ST 1) U w391 03,0 P |, Uik Lo
Before the film started, they had finished their homework.
>3y 05, Plad 1, Uk T 59 g9, @l SO 51 JiS

Ly (6l When oslw bl
When o5l (olo 3 (sole
| had done my homework when John arrived.
s, Ol 39 P91 05> P 1, @i o
When John arrived, | had done my homework.
(o5 0] PWI | @i (10 s, O (P
odlw (ol because =) ol

Because s olo, 03w (ole
| was sad because | had not passed my exams.
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Because | had not passed my exams, | was sad.
(o0 el U550 oud Joid ltal > g
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After sy (olo, 83w oL
| went to bed after | had brushed my teeth.

o965 J?““’ A0 ‘U?UT/"/"‘{ [t ) lghid, 4
Ater | had brushed my teeth, | went to bed.
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1. lam certain that Alice ....... her homework before she ........ TV.

1) is doing / watched 2) had done / watched
3) did / watched 4) had done / watches

2. The teacher advised that the easy questions ........ first.
1) must answer 2) is answering
3) should be answered 4) has been answered

3. The manager orderd us the project ....... before we leave for Italy.
1) had finished 2) must be finished
3) are going to be finished 4) had been finished

q. .. Thomas played a CD, he had plugged in the speakers.

1) But 2) After 3) Because 4) Before
5. Jason drank some tea after ......... himself a sandwich.

1) he had made 2) he makes

3) had made 4) made

___[Pal 15y



6.Martha ........ very tired because she ........ on the farm hard.
1) is / worked 2) will be / works
3) was / has worked 4) was / had worked
7. 1 don’t know who broke the window but | think it ........
immediately.

1) should replace 2) must be replace
3) must be replacing 4) should be replaced
8. By the time | got to the office, the meeting ....... without me.
1) has begun already 2) had already begun
3) already had begun 4) has already begun
9. The children were very excited because they ........ to the
circus in the afternoon.
1) had been taken 2) were taken
3) must be taken 4) had taken
10. Last week, all dry leaves ......... by the gardener to set fire
to them.
1) are gathered 2) will be gathered
3) were gathered 4) had gathered
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For many environmentalists, the world seems to be getting
worse; they have developed long lists of our main fears:
that natural resources are running out; that the population
is ever growing, leaving less and less to eat; that species are
becoming extinct in great numbers, and that the planet’s air
and water are becoming ever more polluted.

But a quick look at the facts shows a different picture.
First, energy and other natural resources have become
more than they were in the past, not less so, since the book
The Limits to Growth was published in 1972 by a group of
scientists. Second, more food is now produced per head of
the world’s population than at any time in history. Fewer
people are dying of hunger. Third, although animal and
plant species are indeed becoming extinct, only about 0.7%
of them are expected to disappear in the next 50 years, not
25-50%, as has so often been predicted. And finally, most
forms of environmental pollution either appear to have
been exaggerated, or are transient-associated with the early
phases of industrialization and therefore best removed not
by limiting economic growth, but by speeding it up.
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For many environmentalists, the world seems to be getting
worse.
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But a quick look at the facts shows a different picture.
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Which of the following statements best describes the way
the information in the passage is presented?
1) A number of problems are listed and then followed by their
appropriate solutions.
2) A dangerous situation is described and then its main causes
are discussed.
3) A main point is made and then refused by the incoming in-
formation.
4) A conclusion is mentioned and then facts to support it are

included.
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It can be concluded from the passage that those who wrote
the book The Limits to Growth believed that energy and
other natural resources ......... .
1) are endless
2) would soon be used more suitably
3) are less than they were in the past
4) can be used to their full capacity
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But a quick look at the facts shows a different picture. First,
energy and other natural resources have become more than
they were in the past, not less so, since the book the Limits

to Growth was published in 1972 by a group of scientists.
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Which of the following best describes the author’s opinion
about the extinction of animal and plant species?
1) It is not happening.
2) Itis a true event but can be stopped very easily.
3) It is happening only to those species that are very weak.
4) It is happening at a much lower rate than it is said to be the
case by some.
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Third, although animal and plant species are indeed
becoming extinct, only about 0.7% of them are expected to
disappear in the next 50 years, not 25-50%, as has so often
been predicted.
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The author believes that economic growth ......... .
1) should be made to continue faster
2) is only in its early stages of development
3) does lead to pollution, but it should not be stopped anyway
4) may not omit pollution but can prevent it from becoming

worse than it is now
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And finally, most forms of environmental pollution either
appear to have been exaggerated, or are transient-
associated with the early phases of industrialization and
therefore best removed not by limiting economic growth,

but by speeding it up.
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